[ %81  [AtRA N EFERA EFEP—ME] BFEME [BFE—ramER b
=& KF 108.1 100 27 15 8.1
ki REEF 108.1 100 27 15 8.1
ZX LOA 83.8 70 46 10.5 13.8
LEF Fnsk 76 46 100 6.9 30
HEH H<H 70 70 0 10.5 0
H5E &7 59.2 46 44 6.9 13.2
E =R 48 27 70 4.05 21
HE HiLTF 48 27 70 405 21
TEB #F 46.4 44 8 6.6 2.4
Hit &F 46.4 44 8 6.6 24
He BE 38.8 25 46 3.75 13.8
FE HET 3338 26 26 3.9 7.8
HTF #KF 338 26 26 3.9 7.8
FF HRETF 30 0 100 0 30
Il EF 28.5 24 15 36 45
A ERKT 285 24 15 36 45
Pk #7 28.2 15 44 2.25 13.2
SH (T5H 25 25 0 3.75 0
R ZR#& 225 15 25 2.25 7.5
2/ H#x 222 15 24 225 7.2
HB# FF 19.5 15 15 2.25 45
il #E7 17.4 15 8 2.25 24
iH BT 17.4 15 8 2.25 2.4
£ B 15 15 0 2.25 0
BFT =F 15 15 0 2.25 0
& 'R 12.5 8 15 1.2 45
X BEF 10.4 8 8 1.2 2.4
E¥ RT 10.4 8 8 1.2 24
IR IR 10.4 8 8 1.2 2.4
IH £& 10.4 8 8 1.2 24
FiE BT 10.4 8 8 1.2 2.4
mE ph 10.4 8 8 1.2 2.4
B AR 10.4 8 8 1.2 2.4
WE AMT 10.4 8 8 1.2 24
LI ES 10.4 8 8 1.2 2.4
Bl EXKF 8 8 0 1.2 0
alky EXF 8 8 0 1.2 0
RS #HEY 8 8 0 1.2 0
B2t =8 8 8 0 1.2 0
R FETF 8 8 0 1.2 0
=55 HEF 8 8 0 1.2 0
R B 8 8 0 1.2 0
AR TR 8 8 0 1.2 0
iE BF 8 8 0 1.2 0
HKHF #EAE 8 8 0 1.2 0
ERE HX 8 8 0 1.2 0
=% BXEF 8 8 0 1.2 0
RE FH 8 8 0 1.2 0
HAR hed 8 8 0 1.2 0
A EET 7.5 0 25 0 75
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